HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

m51A:% &B EEHD FEEE e R s Hymﬁ,;g TE EEHh A% | B8 (ko) [mEan m] ez M) 2B )
e HH 1B ER 1 2 ——— 1,970 — HXE | Al | EEER 2 7 2,900 —— 2,200
TR HZS5 | BIE 5 20 ——— 1,000 — HxE [ A | EHE 2 10 —— 3,000 ——
Bnk Hoo | MR 3 12 3,200 —— 1,000 HxE | | BE 6 55 2,800 1,500 200
Hxt | hac | 8EBE 6 240 2,800 —— 800 BxE | il | BE 9 40 2,800 2,600 200
FHEx] FHL | EIFE 91 252 3,920 —— 600 HExtEnE| Hhc | EBE 4 48 2,000 — 1,800
Bnk FHL | EEER 23 58 670 —— 580 TR FHL [ RIBE 5 30 4,000 — 2,600
HExtenE| F5HL | SHE 2 6 2,900 —— 2,700 TR FHL | ERE 8 13 2,800 — 2,750
FHHEx| FE5HL [ SHE 8 17 2,800 —— 2,700 FHMEx| FHL | BEE 12 32 2,800 2,700 800
X | F4HL [ KR 7 20 ——— 500 — FHMEx|] FHL | SHE 5 16 2,800 2,750 2,650
FHMEX| LW&E [ RIGE 8 15 3,528 —— 1,800 TR FHL [ RIBE — 18 1,500 —— 1,000
M EvbL | FEE 104 312 800 —— 500 &Y EFHL | BEE 1 1 —— 2,340 ——
%£hY [FbL] FTEE 10 30 —- 750 — YRRl (X | =88 6 18 1,000 — 900
ik |FLvbL| FEEB 60 180 825 —= 300 FHIFER| FLvbL " 11 34 1,800 — 900
Y ALY = 1 8 —- 10 — gca)) Bt | EER 1 1 —— —— —
GizESl AR = 32 237 150 —— 100 ik AR | KHE 1 5 —— 245 ——
Bk ZL\ | BES 4 19 ——— 50 — F At Bwanl] EEE 4 50 4,800 — 4,600
Y n"oE | TEE 22 102 800 — 500 FH9MExt| Blwann| (218 4 40 —— 1,200 ——
oM mob | FEE 26 108 3,136 —— 550 &) [Bmsrnn] EEER 1 2 — —— —
infX | ok [ FEE 2 9 ——— 1,000 — FHER D EEE]| EEE 4 20 —— 1,500 ——
&Y Mhhaly | IEER 1 2 —— 2,710 — FHMEX| HDIEEE] EEER 15 68 1,800 1,600 1,000
e R 4 5 3,300 —— 1,200 FHMExt| F9 | EXRE 8 40 4,100 4,000 3,900
FHIMEx v tphn  RER 1 0 ——— 2,500 —— Y b EER 1 1 —— 1,000 ——
FHIMEX DS RER 50 163 2,400 —— 560 Y b EER 2 2 1,150 —— 1,000
frix [ AhDbIEE| KK 9 26 2,200 —— 600 Y b EER 1 1 — —— —
FHMEX] =T R 6 12 4,704 — 4,000 FHMEx| =E [ SR 12 84 2,200 1,900 1,600
=) b = 2 2 1,400 — 820 HURM|] Sho Z 2 8 2,500 ——— 2,400
FHRIMEX| b BEH 2 3 750 — 400 HUER] Sho | BER 15 103 1,290 1,250 950
Brk b R 1 4 — 1,000 — HtYRR| 99 | BER 2 3 —— 1,800 ——
HxtinE| COLA| RE 2 26 —— 100 — FHMEX| 979F [ BRE 2 6 —— 1,600 ——
TR 2L R 2 9 ——— 900 —— Y 9= | EEER 1 2 —— 900 —
A SE | SWWE 64 320 3,000 — 1,400 Y TIE JiFﬁF 1 2 —— 900 —
e =X [ ElE 17 85 3,000 —— 1,646 HYKE| L EKY %Lr 3 7 1,300 — 1,200
FHIMEX| Sho XE 17 99 1,400 — 1,000 HU% M| EFE 1 3 —— 650 —
e shio | EEE 3 11 1,300 — 1,100 UK R| = ,\Fﬁlnt 1 36 —— 550 ——
FHIMEX| Lz R 5 18 2,100 - 800 x5 | B | SRR 64 280 1,400 1,050 200
) 9= [ S 1 2 ——— 1,070 ——— §ca) b | EER 1 4 —— 200 ——
FHMEx| 9= | BER 4 10 1,000 — 800 U b | EER 4 15 — 200 —
ok | 99 | RER 1 2 ——— 1,000 — X | FFEE ([ERER 7 23 1,750 1,550 1,350
FExtEnE| LvE=0y | FEWLE 2 4 1,500 —_— 1,200 ExtEnE| FFED " 2 12 — 1,700 —




HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

m51A:% &B EEHD B | B E (ko) [mmmurm] mmur | zwsw | [EREI5E] &8 EEHh A% | BE (ko) [mEan m] ez M) 2B /)
FEuAR | LE0 ] FWLE 30 75 1,500 —— 350 FHIMEX|  FE EEERE 6 12 —— 2,200 ——
frk |LWED| BLE 5 14 —— 800 — Bnik EE3 " 4 6 2,400 1,200 300
Y [ K50 ]| BiEE 15 145 1,270 —— 700 Y It | EER 4 9 1,900 —— 1,000
BAxt [ F5FE0 | BiEE 26 34 1,960 —— 1,050 &Y It | EEE 12 37 1,770 650 380
HExtind| 570 | BEER 17 64 1,400 —— 50 Y It | EEE 7 31 2,000 800 500
FHHE| 50| ZEE 58 258 1,400 —— 800 Y It | EER 3 12 1,660 —— 680
) YA = 7 44 100 —— 60 fHxtzE | FH EEE 3 3 1,950 — 1,700
FHIMEX| B8 o X 4 1 2 ——— 100 — fAxt5E | FH EEE 1 1 —— 1,600 ——
Bnk 58 5 BE 6 28 650 —— 100 fHxt5E | FH 5 [E 11 76 2,600 2,550 2,390
FHMEX| =658 [ EHE 7 35 1,700 —— 1,600 fAxtE | A< | WEER 2 20 —— 6,500 —
Ink [ =658 | EHE 3 15 1,700 —— 1,600 T A Faros] EEE 1 2 3,200 —— 2,500
TR LUSE | SHE 38 114 1,000 —— 800 FHIMEX| HIES [ FHE 3 9 1,000 — 500
ik [ EUSE | B 7 21 1,100 —— 900 HYRKE| FCA | =58 1 207 4,000 — 3,600
FHIMEX| (T R 1 1 ——— 1,800 — SURR| FCA |AIMLUE 1 13 —— 4,800 ——
xt [L=EFEs| EHE 5 28 ——— 1,700 — BURR|[ FA | KERAF 1 1 —— 129 ——
FE %] IIFE |EREER| 26 133 2,300 —— 2,000 Brik FA " — 1 —— 123 ——
HExtenX| IFE [ERER 6 29 2,300 —— 2,250 BURR| b | BIKE — 24 —— 1,230 ——
FHMER| FFES | BRE 10 100 6,860 —— 2,450 ) =hi: | BIBE — 237 1,810 1,570 600
X | DIF9T [ KRR 6 32 ——— 400 —— §ca)) =hi: | BEIBE — 117 1,230 730 180
Y Y S8 1 16 ——— 180 —— §ca)) =his [ERER| — 59 —— 400 ——
izEol Y ZiEE 3 27 1,750 —— 1,700 x5 |FREE] fER 2 1 —— 11,000 ——
FHIMEX]| SV RAR AT 15 0 4,802 —— 350 HYKE| BaE | HEE 1 3 —— 5,000 ——
&Y E<3 =i 15 62 1,550 — 400 YRR BEE | AEE 1 9 —— 7,500 ——
HExtinE| x| BEE 6 10 ——— 1,800 — Y e | EER 3 8 —— 1,580 ——
FHIMEX| T3 fif] LR 11 28 2,000 — 400 Y e | EER 2 4 —— 1,700 ——
&Y UboH e 5 17 2,800 —— 2,340 FHotExt|csEmE] EER 1 4 —— 2,600 ——
HExEnE] Usd eS| 4 30 2,800 —— 2,700 Y [CiemE] EFER 2 4 —— 1,810 —
FHIMEX| U8 EE[EH 4 4 2,800 —— 1,200 Y [cihesE] EER 1 1 —— 2,700 —
e [ILY5) R 1 1 ——— 1,200 —— YR GE] A | dkiEE 1 3 —— 800 —
TR S5< R 4 27 800 —— 600 5k Mz I 2 6 J— 700 -
TR X5 IR ER 1 1 ——— 400 —— Y Nz | EEE 2 2 2,750 —— 2,400
izEol x93 [4x<=7] 2 40 2,150 — 1,750 BYBRGR| F-C | dtEE 6 6 1,800 —— 1,500
BxtimEl £ |- 2 43 2,000 —— 1,800 YBR[ F-C | HEE 2 20 —— 130 —
HExtERE| BHIED A 2 4 ——— 1,000 —— YRR F-2 | KRF 1 10 —— 171 —
TR HIES CEES 18 34 2,800 —— 450 FHIMEx| F-C [ EEE 7 59 2,100 2,000 1,600
=Y FAH [A==5U7 1 30 ——— 1,620 — FHEx| £F-C | EER 5 15 1,700 ——— 1,600
) =hi: |[EREE 3 152 1,900 —— 1,000 Y x-C | EER 2 10 1,870 — 1,500
inZ | bt [EREE| 4 148 1,536 —— 1,344 €Y |FEEC| EEE 1 1 — 1,620 —
ik |WEZU] KK 1 0 —— 1,500 —— €Y |FEEC| EEE 1 1 — 1,610 —




HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

m51A:% &B EHh B | B E (ko) [mmmurm] umur | zww | [EREI5E] &8 EEHh A% | BE (ko) [mEan m] ez M) 2B /)
FHIMEXF[KBFEZU] HLEE 2 7 6,000 —— 5,000 Y [FYunh| EEE 1 1 —— 760 ——
) _ZV0 = 1 1 ——— 2,000 — Y [FYunh| EEE 3 6 740 — 690
izESH Mz | BEE 1 4 5,000 —— 1,500 Y [FYunh| EEE 1 1 —— 740 ——
AR A | dbdEE 5 17 2,000 —— 450 Y [FYunh| EEE 1 2 —— 900 ——
) F1-C = 1 1 —— 1,200 — HYERL|PYLH | RIGE 1 4 —— 15,500 ——
TR Ff-C KRR 20 66 1,900 —— 1,400 Y [ DBYunh I 2 8 13,600 —— 12,700
Bnk F1=-= KRR 2 6 —— 1,900 — FEXT5E S1Z a7 1 5 —— 3,500 ——
Y |[chanr-c] S5 3 9 1,660 —— 1,550 HxE [ SIS a7 —= 5 —— 2,500 ——
xt  |chpsr=c| IERR 2 6 ——— 2,000 — FEXI5E 51 a7 1 12 3,000 — 2,800
ik | chpntc| IERR 6 18 ——— 2,500 —= fHxt5E | KE FEAES —— 20 410 — 380
Y [Fa00n] HIE 4 28 ——— 4,600 — fAxtE | HY FE 11 5 800 — 260
Tt 300 n] FHINE 13 91 5,600 —— 1,000 HXE | U [ EE 5 20 6,500 4,000 2,200
Y [ FYnh | S8 7 17 960 ——— 720 FAXI5E hE dtiEE 3 90 —— 200 ———
Bxt [FYunh] FHBEE — 0 —— 190 — HAxFE | HhE | EEE 2 54 380 — 180
FHIMEX| YLD | BES 3 7 1,000 —— 650 Hxtz | hE | KB 1 10 —— 6,500 ——
Y [vYuns| RIFE 15 150 12,700 —— 3,550 fAxtinE| HE | dLiEE 2 60 —— 260 ——
FHIMEX| YLD | BEER 1 1 ——— 1,000 — fAxt5E | H#E eS| 1 8 5,600 —— 5,300
fnx [ dPYus| RIFE 2 20 10,500 —— 9,500 tHxise | B | ZEHE 1 1 —— 6,500 ——
izEol Pl dtiEE — 27 3,900 —— 3,700 R | FECY [ FEER 6 30 1,400 — 1,300
FHEx| I asy 1 5 6,500 —— 2,600 BxizE [ [FFECY [ FE 2 8 —— 1,800 ——
T CHLE [ EEER 22 66 750 —— 700 T | B [ dtiEE 3 21 2,500 — 2,000
#Y [mazon| EBE 28 137 4510 —— 500 T | B [ 58 4 8 5,000 —— 4,800
Axt |sezom| BEE | 82 378 3,920 — 1,230 | |AEx%mX| L E | KIRAF 2 2 — 168 —
HExtEnE|azom RB 104 1,570 8,030 —— — > TR fif NG 3 24 —— 62 —
Tt stazom] EIFE 39 149 5,500 —— 800 HExt5E fif Ik B 12 1 10 —— 2,000 ——
int |[mazom| EEE 3 9 800 —— 200 Hx5E | 2uF | B2HE 1 5 —— 3,900 ——
) =} = 1 10 ——— 480 — #H*x%E | L& | BRE — 3 — 1,000 ——
izES] F*E 5 4 35 900 — 100 HxtE | LL& | BEE 1 20 —— 610 ——
FHMEx] FEH | HIE 3 14 ——— 900 — HEX5E | BKE [ /Lo 1 10 —— 1,000 ——
FE HY FE 1 5 ——— 950 — Hx5E | AHL | EER 2 24 —— 1,160 ——
Bxt | HHU | EE 1 3 —— 3,900 ——— Hx5E | AHL [ KR 2 24 —— 1,100 —
FE it heE | BRE 7 145 750 — 250 Hxt5E | AHL | =a—v 1 10 —— 950 ——
FE it 2 | KPR 3 20 ——— 1,800 —— Hx5E | AHL | EER 1 8 — 1,310 —
TR XX R 1 5 ——— 1,800 — AxttnE| ahEc | BE 4 80 2,100 — 1,950
Y EYH =i 1 1 ——— 100 —— HExt5E [ALvbL " 1 10 —— 900 —
BAxt [ FFECY | G E 1 4 2,000 —— 1,950 Btz Ay 7A)H 1 10 —— 750 —
TR FFECY | FEER 2 10 —— 1,800 — BxtEniE | ah Ly KERAF 5 50 — 580 —
Bxt | [F=TE| dtiEa 1 22 2,600 — 1,600 b Xt gnk | Ahvhly 74 RS 1 26 —— 1,380 —
Bxt |28 zom| FiH — 1 5,000 — 190 AxtsE | aslr | v 6 60 —— 1,250 —




HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

m51A:% &B EEHD B | B E (ko) [mmmurm] umur | zwm | [EREI5E] &8 EEHh A% | BE (ko) [mEan m] ez M) 2B /)
Tt BE 2ot BHE 2 18 —— 1,100 — BxFE [ A= | KEREF 3 30 —— 1,900 ——
izES| Ho | IHFERE 4 64 2,303 —— 1,200 HAXFE | At | EEER 2 20 —— 2,470 ——
HExtinE| HP | KEE 16 290 2,400 — 280 HxtinE| Al | KIRAF 4 36 2,100 1,900 1,050
FE X SHE [ BHE 6 108 5,500 —— 3,500 HxtinE| Al | KIRAT 6 60 2,450 — 2,390
X LLA | BEE 1 21 1,200 —— 600 fAXFE | ASE | HEAR 2 24 —— 1,400 ——
HExtinE| LA | BRE — 1 ——— 1,000 — fAXFE | ASE | HREEAR 1 12 —— 1,400 ——
Bxt | AxkA [ /)LH— 7 80 1,050 ——— 700 x| AslE | /9 1 10 —— 650 ——
HExtenE| AFRA | TAJA 3 30 —— 900 — HxFE [ AsE [ /o 1 7 —— 1,400 ——
xt AL [su—sor] 13 145 2,100 —— 730 Hxizs [ AEbhs| ®BE 2 20 1,450 —— 1,150
xR ah ] R4 17 615 12,300 —— 480 HAXIFE | Achn | FE 2 22 —— 1,100 —
A X AslT F1) 4 40 2,600 —— 1,700 HEXRFE [Baov—y| AR 2 24 —— 1,100 —
GERS AxlE | /Ly — 5 52 1,350 ——— 980 FAXIFE [pAv—4| KIRAFF 1 12 —— 1,100 ———
HE*t BnaE méli JLHz—] 10 94 1,300 —— 980 HExI5E | aEE | KIRAT 4 28 2,400 — 1,200
izES A | o7 3 30 ——— 1,300 — HEx5E | aEE | KIRAT 1 6 —— 3,000 ——
A X m%im‘— M=)IE] 2 6 4,500 —— 2,000 Xz | aEE | KERAT 4 430 1,850 1,700 46
Xt [pavr—4| fE 1 10 ——— 1,100 — Hxtink| piEE | —a—7h 1 10 —— 3,400 ——
FE %] AAU | RN LA 12 188 3,500 —— 36 Hxtink| piEE | KIRA 1 6 —— 3,300 ——
HExenE| AU |TITFIL 1 20 2,800 —— 265 BxtzE | A2 | KIRAF 1 10 —— 2,100 ——
Hx [AsBon] 757 2 20 4,900 — 3,600 = [sEaTuns| £Ov3 1 10 —— 4,000 ——
x| AL | BE 4 30 ——— 11,000 — Hxt5E [ AL, | EEE 1 3 —— 173 ——
BxtinE| Auvs | BE 2 20 ——— 1,100 — BAxttnk| AL [ PREE 2 20 —— 2,450 —
B |»zezowm| drEE 16 208 2,250 — 420 HRE [Fuonun| L& 1 16 —— 235 ——
X85k | vrrron| JtiEE 13 172 4,500 —— 500 Hxt5E | FLEZ| FRHE 1 12 —— 160 —
BriX |[nEezowm| EE 1 0 —— 4,100 — MxF5E |LWbLaFL| S501E 3 324 80 — 60
x| Fhrnly EEE 2 32 550 — 130 Bxts oLl EE 2 84 — 145 —
Hxt | FAU [ BEE 1 12 — 250 — HxtEnE[vbLaFL I 1 42 —— 145 ——
nk  [ETAF| WkEHF 3 30 ——— 1,400 — HxtinE|vbLaFL EREE[ 9 81 —— 1,500 ——
Hxt [HLET| RIGE 2 16 275 — 195 HXFE [3200TFL|IBIREE 1 8 —— 3,000 ——
X | HUET[AMLA-44 1 14 ——— 2,500 — HxE5E|[3200FL] XHE 10 960 —— 117 ———
Mxt |[BEHEC| EBE 3 9 —— 5,800 ——— HxEnE[ 5200 FL{EIREE] 9 108 —— 3,100 —
ik |[Ehic|] RL— 1 20 —— 230 —— HxE [sem=rl| EE 1 40 —— 270 ——
Hxt (gL KAy 1 7 —— 380 — HxE [prmzFL] ERE 2 90 —— 220 ——
A >t B=Ed | EER 1 15 1,170 —— 195 M EnE | revm=rL] KO E 1 2 — 245 —
X | BiEd | EER 1 15 — 195 — Hxtse [mEshic| EER 1 10 —— 6,000 —
8t BEE = E ——= 0 —— 200 —— x5t |EEhihc]| KRR 2 10 ——— 255 ———
Mxt | Bk [74R50F] 2 52 280 —— 100 BxtinE|gEhiac] =fED 1 10 —— 3,000 —
8 >t MIZH = E 1 25 540 —-— 440 FAXIFE |#mosvos|FIEILIE| 28 4,824 2,200 140 115
xt |FbYdHA| FE ——— 0 162 —— 130 FEXTERIE | #rsvns| EEIR 118 590 —— 1,150 ——
frt |[FBUHA| EEE | 1,034 7,586 2,200 — 240 Mxtink| #mrsvos] EER 19 228 m— 1,000 —




HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

malA%El &B Eih B | B E (ko) [mmmurm] eumu | zww | [EREI5E] &8 Eih A% | BE (ko) [mEan m] ez M) 2B /)
HExtEriE|voLizEl] OB 1 8 — 1,600 — MRSt BnE | zmrsuns| EEIE 1 20 — 650 —
Hxtnk| B [ oL 7 1 8 e 1,800 — HXIFE |EbYnia] EEE 2 24 ——— 215 ———
FExt  |[sFe zow]|sExEtra] 30 557 4,400 —— 73 XL (EVHA| EEERE 21 104 —— 2,500 ——
Hxt [ HFEIFS| KERF 5 25 ——— 330 — HxtnE[EsVna| EEE 135 668 2,600 1,300 1,100
HExtEnE| NhEIFZ| FHEBE 3 6 ——— 74 — BExtnk|EsYnA| EFEE | 498 2,495 1,930 1,370 670
GizESH Kb | EEE 1 3 ——— 140 — HxtnE[EsVna| EEE 175 1,044 2,400 1,670 600
HExtdnE| H5<h | MIWLE 2 9 100 —— 88 BExttnk|EsYA| EFEE | 365 1,825 2,900 2,700 1,200
x| TASL [ KR 2 6 ——— 107 — Xt nX | EbYOABERERE| 236 1,180 2,500 2,100 1,350
XL TASRS | KR | 501 1,503 125 —— 96 Xt ERE | EbYHA| 1VFHR 5 60 —— 3,300 ——
Fxt [mrs zon] EEE | 149 -1,806 | 13,500 — 51 XX | EEYHA| EEER 15 75 — 2,500 —-
X BniE | mra zom| EEE | 1515 7,903 | 799,893 — 55 HxtinE[EsVna| EEE 113 565 2,800 2,500 2,300
FE %] Ef EE[FH 1 3 ——— 270 — HMxtink(EsVna| EEE 28 140 —— 2,300 ——
iEES Hhe | EFE 1 3 270 ——— 120 XX | EbYHA| EEE 164 817 2,500 2,200 2,100
BxtinE] bhre | BFE — 0 270 —— 265 HxtinE[EsVna| EEE 20 100 —— 2,400 ——
x| zom| PEEE 2 2 480 —— 200 HMxtink(EsVna| EEE 35 174 —— 1,980 ——
— —— — —— — ——— —— ——— HExtgnik|EsYHA| EEE 9 94 3,550 3,300 1,450
— ——  |&sgkED| 1,408 7,858 ——— —— ——— HExtgnik|EsYHA| EEE 35 174 —— 1,870 ——
— —  |A&EkED] 116 1,759 —— — — x5 |LWhLETF| FERRT 7 56 —— 900 ——
— — EF+&% [ 1,085 8,405 —— — S HExtEgnE|(LbLEF|] FIINE 1 24 —— 710 ——
— — T [ 2,182 7,657 —— — S HXE | At [ =58 1 8 —— 1,400 ——
— —— — —— — ——— — ——— xtss | wEt | KA 13 116 1,750 — 1,400
— —— — —— — ——— — ——— ExtnE] T " 15 128 1,680 1,450 1,400
— —— — —— — ——— — ——— xtzs | wsE [ /ey 3 14 7,200 6,900 5,800
— —— — —— — ——— — ——— HExtgniE] HSIE " 1 5 —— 5,900 ——
— —— — —— — ——— — ——— WxtgniE| WL | EREE 20 200 1,200 — 1,050
— —— — —— — ——— — ——— HExtgniE] HSIE BA 4 21 11,000 | 10,900 | 4,700
— — — — — — — — HExtgnE| FE | BHE 1 3 — 170 —
— ——— — ——— — ——— —— ——— HExtgnk|-o3=8| EHE 5 200 ——— 300 ———
— —— — —— — —— — —— s [=naFL] B 1 10 —— 2,450 ——
— —— — —— — —— — —— X EEE | -haRFL 1" 1 80 —— 260 ——
— —— — —— — —— — —— s | EHR | EER 7 7 185 92 72
— —— — —— — —— — —— x| ER | IgRE 1 10 —— 162 ——
— —— — —— — —— — —— xtss | ER | KRAF 1 10 —— 125 ——
— —— — —— — —— — —— xtss | &R | KRAF 2 13 176 — 87
— —— — —— — —— — —— wxtss | &R | KRAF 1 10 —— 270 ——
— — — — — — — — ABRi5E | cA8E | KBRFF | — 1 — | 160 —
— — — —— — —— — —— HExtsE | ERR I 1 6 — 95 —
— — — —— — —— — —— HAxtE | ER | BEiRE 1 10 — 95 —
— — — —— — —— — —— x| Es& | wnE 2 20 — 170 —




HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

malA%El &B Eih B | BE (ko) [ mewwn )] zeen )| [BEIHEE] &E Eih A% | BE (ko) [mEan m] ez M) 2B /)

— | — | — 1 — | — [ — [ — 1T — x| mtE | RIBE [ 2 6 — | 115 —
— | — | — T — 1 — 1 — 1" — 1T — Mas | EtE | EEE [ 1 10 — 90 —
— | — " — ] [fAxEE] &% | RER | 6 6 185 87 70

— | — = =T —— T — | [fexEE] &% | #mE | 3 30 342 | — [ 90

— | — [ — T —— T — | faxEmE] Eek | ABAT | 2 20 — | 105 | —
— — — — — — — — | [1BxiEmE| sEsk | KDRAT | 4 32 131 126 78

— | — | — [ 11—\ [fExE | M@ | Hes | 2 8 144 | — | o7

— —— — —— — — — — HBxizs | rag | KBRET 3 15 —— 145 ——
— | — | — T — 1 — 1 — 1" — 1T — MR | Y | SRR [ 2 30 198 — [ 130
—— —— —— —— —— —— —— —— HExizs [ mEg [ LOE 1 5 —— 160 ——
— | — [ — [ — [ — [ — [ — 1 — | 8% 7 | Joel | b5/ 283 | 134 | — [ 7

— — — — — — — — Mxtink| Tim | ERE 8 120 —= 121 —
— — — — — — — — XS | XieiE | =mE | 3 23 195 — 175
—— —— —— —— —— —— —— —— HExiss | XigE | RHEE 1 10 —— 250 ——
— — — — — — — — X | KieiE | gaB | 8 73 161 o1 85

— — — — — — — — X | Kpge | =22 | 1 10 — 120 —
— — — — — — — — X | KimiE | KBRAT | 2 20 140 — 75

— — — — — — — — XIS | KimiE | ABRAT | 2 15 145 — 129
— — — — — — — — Xt | Kiwge | AORAT | 3 30 98 — 81

— — — — — — — — Xt | Kimge | v 9 90 102 85 70

— [ — [ — [ — T — [ — T — T — | [a%% | *te@E | Abm | | 10 — | 230 —
— — —= — —= — — — Hxi5E | KigiE | EEE 1 10 — 28 —
— [ — [ — [ — T — [ — T — T — | %% | *fe@E | BILE | 2 20 — | 130 —
— [ — [ — T — T — [ — T — 1 — | [ax% | xeE | LEBE [ 10 70 80 —- 75

— — — — — — — — Xt | RAiei | RIBE | 3 30 320 275 250
— — —= — —= — — — HxisE | Kigi | EERE 1 7 — 72 —
— — — — — — — — Axi8nk| XipsE | ras | 3 23 118 — 79

— — — — — — — — | [4BxtEaE| RIEHE | ABRAT | 2 20 168 — | 115
— [ — [ — T — 1 — 1 — T — T — | [#axi%n| Xoge | KWRA | | 10 — 59 —
— [ — [ — T — 1 — 1 — [ — 1 — | [ax%%] Xie@ | 5RE | 5 25 — | &7 —
— — — — — — — — FExiEniE| Kig# | [LER 1 7 — 75 —
— — — — — — — — FExiEnE| Kig# | EER 1 7 — 72 —
—- —- —- —- —- —- —- —- Xz | L | KORRF | 7 42 — 109 —-
— — — — — — — — WRE | L | ZBR | — 1 — | 300 —
— — — — — — — — | (ExEE] NL | KBRAF | 1 6 — | 108 —
—- —- —- —- —- —- —- —- X (V== » 5 50 220 —- 160
—- — —- —- —- —- —- — | [fExdEmEv—+—>] ~ 6 18 — 135 —
— — — — — — — — X [ARRE ZHE | 10 — | 175 —
— — —= — —= —= —= —= T [ER R HRAR 2 6 — 240 —




HERs5/B 2025-06-12

ENSEMED AR

SREK T FR R ENSE TS OKEWER)

malA%El &B Eih B | B E (ko) [mmmurm] mmur | zwm | [EREI5E] &8 Eih A% | BE (ko) [mEan m] ez M) 2B /)

— — — — — — — — Hxx [ARem KEE | 8 48 295 — 280
— | — | — T — 1 — 1 — 1" — 1T — HAE (AR REE [ 1 8 — | 640 —
— | — | — T — 1 — 1 — 1" — 1T — HxE (AR KB [ 1 10 — 96 —
— — — — — — — — X [ARam| KA | 3 26 171 — 129
— | — | — T — 1 — 1 — 1" — 1T — Hxx (ARRR] ZEE [ — 4 — | 300 —
— [ — | — | T — T — | [axui[Aaan EEE | 8 — | 220 —
— — — — — — — — | [AxEmE[SEBS] KR | 6 48 168 129 115
— [ — | — | — T —— T — T — | &[5 aas ZRE | | 8 — | 300 —
— [ — | — | — T —— T — | [axui[Aaan BEE | | 11 — 88 —
— — — — — — — — HxE | B HEEE | 1 60 — 295 —
— — — — — — — — Mxie | &% | =FE | 120 | 1800 | 230 140 80

— — — — — — — — Hxix | =% | BE 10 150 — 130 —
— — — — — — — — HExtEnE B | 2F8 80 1,200 —= 237 —
— — — — — — — — — — |BA%KE| 594 | 5738 — — —
— — — — — — — — — — |A&%KE] 116 | 1561 — — —
— — — — — — — — — — [EF%E[ 2086 | 17399 | — — —
— — — — — — — — — — |HE%E[ 228 | 1,580 — — —
— — — — — — — — — — | #Ef | 3024 [26278 | —- — —




